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Sample Paper – 2012
Class – XII
 Subject – Accountancy
TIME ALLOWED :3HRS                                                                    MAX.MKS. : 80 

GENERAL INSTRUCTIONS : 

i)     This question paper is divided into two parts A&B. 
ii)     Both the parts are compulsory .

iii) Working will form part of the answers.

iv) Attempt all parts of a question at one place.

              PART  A : NPO , PARTNERSHIP AND COMPANY ACCOUNTS
1. How many years  a company must do business so that it  can  issue its  shares at a discount  ?  Also state maximum limit if  any on such discount.                                                                                  (1)
2. Which type of goodwill  can be recorded in the books of account as per AS-10. ?                                                                                       (1)
3. Name two methods of valuation of goodwill.                                  (1)
4. State an important characteristic of  Income & Expenditure A/c (1)       
5. In what ratio retiring partners share of goodwill is adjusted into the accounts of continuing partners ?                                              (1)
6. City Finance Ltd. issued 4,00,000  13.5 % Debentures of Rs 500 each . Pass necessary journal entries for issue of Debentures in the following cases :
i) When debentures are issued at par and redeemable at 5 % premium.
ii) When debentures are issued at 5 %  premium and redeemable at par.

iii) When debentures are issued  at 5 % premium and redeemable at 7 % premium.                                                    (3)

7. Give three main points of difference b/w  Receipt & Payment A/C and Income & Expenditure A/c                                                           (3)

8. A Ltd.  took  over  Assets  of  Rs.12,00,000  and  Creditors  of Rs.2,00,000  from B Ltd. and issued Equity Shares of Rs. 100 each at a premium of 10 % as purchase consideration.    
Pass  journal entries  in  the books of A Ltd.                                     (3)
9. A , B  and C were partners in a firm . On 1st April , 2009  their capitals  stood at Rs. 50,000 , Rs. 25,000 and Rs. 25,000 resp.   
As per the provisions of the partnership deed :
i) C was entitled  for a salary of  Rs. 5000 per month but  he was credited  with Rs. 500  per month only.
ii) Profits  were to be shared in the ratio of capitals.  

The net profit of the year 2008-09 of Rs. 33,000 was divided                                                                           equally without providing for the above terms . Pass necessary adjusting entry on 1st April , 2009.                                                       (4)
10. Aniket Ltd. redeemed Rs. 30,00,000 , 8 % Debentures issued at a premium of 5 % as follows : Rs. 12,00,000 , 8 % Debentures were converted into Equity Shares of Rs. 100 each issued at a premium of Rs. 25 per share and the balance by purchase in open market at 10 % discount paying a commission of Rs.8002.
   Pass  journal entries for redemption.                                             (4)
11. X , Y and Z are partners in a firm sharing profits in the ratio of  4 : 3 : 3. They admitted  P as a new partner . Each of existing partner surrendered 1/3rd of their share in favour of P. Find New Ratio.                                                                                                       (4) 
12. Alfa Ltd. invited applications for 4,00,000 of its Equity Shares of Rs. 10 each on the following terms :

Payable on application                Rs. 5 per share
Payable on allotment                   Rs. 3 per share

Payable on final call                      Rs. 2 per share

Applications for 5,00,000 shares were received and allotment was made as under :

· To refuse allotment to the applicants of 20,000 shares
· To allot in full to the applicants of 80,000 shares 
· To allot balance of the available shares pro-rata among the other applicants

· To utilize excess applications money in part as payment of allotment  money.

 One applicant to whom shares have been allotted on pro-rata                                                   basis failed to pay his arrears on allotment amounting to Rs. 700 and the amount due on his shares on the final call.The Directors , therefore , decided to forfeit  his  shares after complying with the provisions of the Act. Later on , forfeited shares were reissued @ Rs.8 per share as fully paid.

Pass journal entries relating to allotment  , forfeiture and reissue of shares.                                                                                                  (6)   
13.Given below is the Receipt & Payment  A/C of All India Foundation                    Club for the year ended on 31st March , 2009 :
	Receipt
	Amount(Rs.)
	Payment
	Amount(Rs.)

	Cash at Bank

Subscriptions :

2007-08

2008-09

2009-10

Entrance Fees

Hire of ground

Interest on Invest.

Competion Fees

	34,000

  3,000

78,500

  2,500

57,100

  4,200

   3,500
   3,500

1,86,300


	Managers Salary

Printing & St.
General Expenses

Audit Fees 

Show Expenses

Show Prizes

Deposit at Bank

Balance at Bank
	11,500

24,100
11,200
     600

51,500

42,800

20,000

24,600

1,86,300



Additional Information :

The club holds Rs.35,000, !0% investments (cost RS. 32,000). Subscriptions yet to be received for 2008-09 Rs.1,500.Rs. 2,500 are owing to the printers . There is due to the Manager Rs. 2,300 for balance of salary on 31st March , 2009.
Prepare Income & Expenditure Account for the year ended 31st March , 2009 and Balance Sheet on that date.                                        ( 6)
14. Following is the Balance Sheet as on 31st March , 2009 of Arun and Tarun sharing profits in the ratio of 2 : 3.
	Liabilities
	Amount(Rs.)
	Assets
	Amount(Rs.)

	Creditors
	65,000
	Cash
	14,000

	Bills Payable
	  5,000
	Stock
	12,000

	Arun’s Capital
	  8,000
	Debtors (net)
	17,000

	Tarun’s Capital
	10,000
	Plant
	30,000

	
	
	Investments
	10,000

	
	
	P & L A/C (Dr.)
	  5,000

	
	88,000
	
	88,000


Note :There is a balance of Rs.1,000 in provision for doubtful debts A/C. 

On the above date , the firm was dissolved. Arun took over investments at Rs.8,000. Stock realized Rs. 10,000 ; Plant realized Rs. 3,000 less ;
Debtors were sold to a collection agency for Rs.16,500 ; Liabilities were settled at a discount of 10 % ; and incurred Rs. 2,000 as cost of realization.
Prepare Realisation A/C , Partners’ Capital A/C and Cash A/C.       (6)
15.A and B are partners in a firm sharing profits in 2 : 1 ratio.They admitted C for 1/4th share in the profits . The Balance Sheet of A and B as on 31st March , 2009 was as under :

	Liabilities
	Amount(Rs.)
	Assets 
	Amount(Rs.)

	Creditors 
	20,000
	Cash
	  2,000

	Bills Payable
	19,000
	Debtors
	50,000

	Reserve Fund
	  6,000
	Inventory
	10,000

	A’s Capital
	50,000
	Machinery
	25,000

	B’s Capital
	32,000
	Building
	40,000

	
	1,27,000
	
	1,27,000


On 1st Apri ,2009, they admitted  C on the following terms :

i) C will bring Rs. 30,000  as Capital and Rs. 12,000 for goodwill.

ii)  Building was valued at Rs. 45,000 and Machinery at Rs. 23,000.
iii)  A provision for bad and doubtful debt was to be created @ 6 %

on debtors  .
iv) Bills payable were to be paid earning a discount of Rs.1,000.

Prepare the Revaluation A/C , Partnes’ Capital A/C and Revised Balance Sheet of the reconstituted firm.                                                   (8)
                                              OR

P , Q and R were partners in a firm sharing profits and losses as 5 : 3 : 2.

On 31st March , 2009 Q retired from the firm . On the date of Q’s retirement the Balance Sheet of the Firm was as follows : 

	Liabilities
	Amount(Rs.)
	Assets 
	Amount(Rs.)

	Creditors
	27,000
	Bank
	27,600

	O/S Salary
	12,200
	Debtors
	  5,600

	B/P
	  2,000
	Stock
	  9,000

	P’s Capital
	52,000
	Furniture
	  4,000

	Q’s Capital
	30.000
	Building
	97,000

	R’s Capital
	20,000
	
	

	
	1,43,200
	
	1,43,200


On Q’s retirement it was agreed that :
i) Building will be appreciated by 2 % and Furniture will be appreciated by Rs. 1,700. Stock will be depreciated by 10 %.

ii)  5 % provision for doubtful debts was to be made on debtors .

iii)  Creditors were valued at 20,000 but it was agreed to be recorded at its original value by making necessary adjustment among the partners.
iv)  Goodwill was valued at Rs. 21,000.
v)  Rs.20,000 from Q’s capital A/C will be transferred to his loan A/C and the Balance will be paid by cheque. 
Prepare the Revaluation A/C , Partnes’ Capital A/C and Revised Balance Sheet of the reconstituted firm.                                 (8)
16. Pass the necessary journal entries in the books of X Ltd. For the 
       following  transactions : 

a) 800 equity shares of Rs 100 each issued at a discount of  10% were forfeited for the non-payment of final call of Rs 20 per share, the forfeited shares  were reissued for Rs 40,000 fully paid up.          (3)
b) 12,000 equity shares of Rs 50 each issued at a premium of Rs 8 per share, were forfeited for the non-payment of allotment money (including premium) of Rs 23 per share.Application money of Rs 15 per share had been received on these shares and the first and final call of Rs 20 per share was not made. The forfeited shares were reissued at Rs 55 per share fully paid up.                                                          (3)
c) The company purchased building from Ashoka Ltd for Rs 36 lakhs. The vendors were paid by the issue of equity shares of Rs 10 each.   (2)                                                                      

OR
Y Ltd with a nominal capital of Rs 50 lakhs in equity shares of Rs 10 each, issued 2 lakhs shares payable Rs 2.50 per share on application; Rs 2.50 per share on allotment and Rs 5 per share on first and final call three months later. All money payable on allotment was duly received but one shareholder failed to pay the amount due on allotment on his 2500 shares while another shareholder holding 2000 shares paid for the shares first and final call also. Make the necessary journal entries in the books of the company upto allotment of shares and show the balance sheet of the company.                                                                                                         (8) 
PART B: ANALYSIS OF FINANCIAL STATEMENTS
17. Give two tools of Financial Analysis.                                                           (1)                                                                             18. Give two examples of Cash Equivalents.                                                     (1)                                                                             19. What does stock turnover ratio indicate?                                                   (1)                                                                          20. The following figures were extracted from the trial balance of Z  Ltd.;                     

         Share Capital : 10000 Equity shares of Rs 10 each fully paid

         Securities Premium Rs 12,000

         12% Debentures      Rs 50,000 

         Fixed Deposit           Rs 25,000

         Creditors                   Rs 5,000

       Show the above items in the Balance sheet as per the schedule VI.      (3)                                        

21.  Prepare a Comparative Income Statement with the help of the following information:

                    Particulars                                       2008(Rs)               2009(Rs)     

                     Sales                                                2,00,000                 3,00,000 

                  Cost of Goods Sold                           60% of Sales         70% of Sales

                  Indirect Expenses                              50% of G.P.            55% of G.P. 

                  Income Tax Rate                                50%                         50%           (4)
22. Calculate any two of the following ratios:

         i) Liquid Ratio     ii) Proprietory Ratio     iii) Operating Ratio

Information:

Sales Rs 3,40,000; Cost of Goods Sold Rs 1,20,000; Selling Expenses Rs 80,000; Office Expenses Rs 40,000;

Current Assets Rs 1,50,000; Current Liabilities Rs 1,00,000; Closing Stock Rs 10,000; Fixed Assets Rs 2,80,000 Equity Share Capital Rs 2,75,000 and General Reserve Rs 2,00,000.                                                                                                                    (4)                                              

23. XY Ltd has a profit of Rs 15,00,000 for the year ended 31 March 2009 after considering the following:

                                                                     Rs 

       Depreciation on Building               45,000

       Transfer to Reserve                        22,000

       Goodwill written off                      17,000

       Loss on sale of Furniture                 5,000

The following was the position of Current Assets and Current Liabilities of the company :

Particulars                                                        2008(Rs)                      2009(Rs)
         Debtors                                                       30,000                         45,000

         Stock                                                        1,00,000                         78,000

         Cash                                                            33,000                          47,000

         Creditors                                                     57,000                          63,000

         Outstanding Expenses                                10,000                            7,000

         Bills Payable                                                9,000                           14,000

Calculate Cash Flow from Operating Activities.                                              (6)                
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